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I1. Cac yéu ciu ciia dé thi nhiam dap &ng CLO

(phan nay phdi phéi hep véi théng tin tir @é cuong chi tiét cia hoc phan)



Trong sb

Ky . . CLO trong A 2z | Lay dir liéu do
hi¢u Noi dung CLO F(;lgl:hth}:ic thanh phan Ct?]l: Sh;m Dtlf.rg:(’ lwong mire dat
CLO &t danh gi4 ° o PLO/PI
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Steps to establish
supply and 11 1.2
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partnerships, , 15 16
CLO? influencing factors Trgf: 20% 17,18, 5 10
as well as related nghiém 19
issues of P
. 1.10
evaluating supply
chain relationship
management.
The role and
application of 21 29
CLO3 | technology in Ty luan 30% 23 ’ 8 4,0
establishing supply '
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with the skills to
combine
theoretical 91 29
CLO4 | knowledge into Tu luan 30% '2’ 3' ’ 8 4,0
the practice of -
supply chain
relationship
management.
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supply chain U4 trinh
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Train students to
form a sense of
responsibility,

perseverance, Bai tap qua

creativity and trinh,
CLOS dynamism through | thuyét

the strict trinh

implementation of
the requirements of
the subject.

Cha thich céc cot:

(1) Chi liét ké cac CLO dwoc danh gid bdi dé thi két thic hoc phan (twong iing nhuw did mé ta
trong dé cuong chi tiét hoc phan). Lueu y khéng dwa vao bang ndy cac CLO khong dung bai thi két
thic hoc phan d@é danh gid (cé6 mét sé CLO dwoc bo tri danh gid bang bai kiém tra giira ky, danh
gi& qua du dn, dé an trong qua trinh hoc hay céc hinh thite danh gid qua trinh khéc chir khdng bé
tri danh gid bang bai thi két thiic hoc phan). Trieong hop mét sé CLO vira diroc bé tri danh gid qua
trinh hay giira ky vira duoc bé tri danh gia két thic hoc phan thi van duwa vao cét (1).

(2) Néu ngi dung cua CLO twong ung.

(3) Hinh thizc kiém tra danh gid cé thé 1a: trac nghiém, tw ludn, dir dn, do &n, van déap, thuc
hanh trén may tinh, thzc hanh phong thi nghiém, bao céo, thuyét trinh, ..., phir hop véi néi dung
ciia CLO va md td trong dé cwong chi tiét hoc phan.

(4) Trong sé mic dé quan trong cua tirng CLO trong dé thi két thiic hoc phan do giang vién
ra dé thi quy dinh (mang tinh twong doi) trén co sé Mike dé quan trong cua tirng CLO. Pdy la co
s¢ dé phan phai ty 1é % so diém t6i da cho cdc cau héi thi ding dé danh gid cic CLO twong 1ng,
bdo dam CLO quan trong hon thi dwoc danh gid véi diém sé toi da I6n hon. Cét (4) ding d@é ho tro
cho cgt (6).

(5) Liét ké cac cau hdi thi s¢ (cau hdi so ... hodc tir cAu héi sé... dén cau héi sé...) ding dé
Kiém tra nguoi hoc dat cic CLO twong img.

(6) Ghi diém s6 toi da cho méi cau héi hogc phan thi.

(7) Trong trirong hop day la hoc phan cot 16i - sir dung két qua danh gid CLO ciia hang tiong
g trong bang dé do lwong danh gid mirc dé nguoi hoc dat dwoc PLO/PI - can liét ké ky hiéu
PLO/PI ¢6 lién quan vao hang twong vng. Trong dé cwong chi tiét hoc phan ciing can md ta rd
CLO twong ig cua hoc phan nay sé duroc sir dung lam diz lidu dé do lwong danh gid cic PLOIPI.
Trwong hop hoc phan khéng c6 CLO nao phuc vu Viée do lwong déanh gic mirc dat PLO/PI thi dé
trong cot nay.
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I1. Ngi dung cau héi thi
MULTIPLE CHOICE (2 Points)

1. Which of the following is NOT one of the three pillars of CRM?
A. Economic CRM B. Analytical CRM

C. Collaborative CRM

D. Operational CRM

ANSWER: A

2. Why did the new CEO of the bank decide to implement an enterprise-wide CRM solution?
A. To centralize customer interactions and make data-driven decisions

B. To automate sales and marketing processes

C. To integrate with third-party service providers

D. To improve employee satisfaction.

ANSWER: A

3. Which formula best represents the calculation for Customer Lifetime Value (CLV)?
A. Revenue from customer - cost to acquire and serve that customer

B. Total revenue generated by the customer over their lifetime

C. (Trade 1 + Trade 2 + ... + Trade N) * Average profit margin

D. Average transaction value * purchase frequency per year * transaction time.
ANSWER: A

4. Which of the following is NOT one of the steps to provide value to customers?
A. Measure the value only through customer satisfaction



B. Supply the value
C. Share the value
D. Select the value
ANSWER: A

5. Which of the following describes a mature stage in the SRM process?
A. Fully optimized production and value chain

B. Focus on cutting purchasing costs without evaluation

C. Initial stages with limited supply chain integration

D. Internal procurement driven by individual department needs.
ANSWER: A

6. Which of the following is a key aspect of SRM administration?
A. Maintaining mutually beneficial supplier relations

B. Focusing solely on reducing costs

C. Implementing a win-lose approach to negotiations

D. Keeping supplier relationships at arm's length.

ANSWER: A

7. Which of the following best describes a key aspect of Customer Relationship Management



(CRM)?

A. Aims to enhance customer interactions and satisfaction
B. Emphasizes cost reduction

C. Focuses on improving relationships with suppliers

D. Primarily used for inventory management.

ANSWER: A

8. What is the primary advantage of cloud computing in supply chains?
A. Reduced initial investment

B. Limited scalability

C. Requires on-site data centers

D. Increases operational costs.

ANSWER: A

9. What does a positive Net Present Value (NPV) indicate about a project?
A. The project is profitable after accounting for the discount rate

B. The project has a negative return on investment

C. The project has high operational costs

D. The project is unlikely to succeed.

ANSWER: A

10. What is a key characteristic of a Service Level Agreement (SLA) in the supply chain context?
A. It sets the responsibilities of parties in a business contract

B. It determines the value to shareholders

C. It defines the technical quality of a product

D. It calculates cost efficiency.

ANSWER: A

WRITING (8 points)
Question 1 (4 points):
Supply chain coordination involves aligning actions across all stages to increase total supply chain

surplus. Discuss the obstacles to coordination in a supply chain and explain how they can be
overcome. . (2 points) Use specific examples to illustrate your points. (2 points)

Question 1 Answer:

Obstacles to supply chain coordination include conflicting objectives, information processing



challenges, operational barriers, pricing issues, and behavioral obstacles. These obstacles can lead

to distorted information, variability in orders, and reduced profitability.

To overcome these obstacles, supply chain managers can align goals and incentives, improve
information accuracy, and reduce lead times. Strategic partnerships and cooperative forecasting
systems like CPFR can also enhance coordination. For example, Walmart's use of electronic data
interchange (EDI) has helped reduce lead times and improve communication across the supply

chain.

Additionally, managing operational performance by reducing lot sizes and centralizing demand
information can reduce variability. Rationing based on past sales rather than current orders is

another effective strategy to minimize gaming and variability.

These strategies can help supply chain managers address obstacles to coordination and improve
overall supply chain performance. By fostering better communication and aligning incentives,

companies can work together to increase supply chain surplus and reduce inefficiencies.

Question 2 (2 points):

A manufacturing company invests in new equipment costing $50,000. The equipment is expected
to increase production efficiency, resulting in additional revenue of $90,000 over the next three
years. Operating costs associated with the new equipment are $20,000 over the same period.
Calculate the ROI for the equipment purchase.

Question 2 Answer:

Net Profit: The net profit from the equipment is the total additional revenue minus the cost of the
investment and operating costs. Thus, the net profit is $90,000 (total additional revenue) - $50,000
(equipment cost) - $20,000 (operating costs) = $20,000.

ROI Calculation: ROI is calculated by dividing the net profit by the cost of the investment and



multiplying by 100 to get a percentage.

Net Profit $20,000
ror = L |

x 100 = 409
$50,000> &

Cost of Investment

Thus, the ROI for the marketing campaign is 40%.

Question 3 (2 points):
A company is considering an investment in new manufacturing equipment. The initial cost is

$150,000, and the expected cash flows over the next five years are as follows:

Year Amount
2020 $40,000
2021 $50,000
2022 $60,000
2023 $70,000
2024 $80,000

The discount rate is 12%. Calculate the Net Present Value (NPV) for this investment.
Question 3 Answer:

To calculate the NPV, we need to discount each future cash flow to its present value and then subtract



the initial investment.

Discounted Cash Flows:

Year Amount | Discounted
Cash Flows
2020 $40,000 $35,714.29
2021 $50,000 $39,843.75
2022 $60,000 $42,844.53
2023 $70,000 $44,425.23
2024 $80,000 $45,357.52

Total Discounted Cash Flow:
Total = 35,714.29 + 39,843.75 + 42,844 .53 + 44,425.23 + 45,357.52 = 208,185.32
Net Present Value (NPV):

NPV = 208,185.32 - 150,000 = 58,185.32

TP. Ho Chi Minh, ngay 23 thang 11 ndm 2023
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